

McClellan, Schafer and Yoder, Signal Processing First, ISBN 0-13-065562-7. Prentice Hall, Upper Saddle River, NJ 07458. © 2003 Pearson Education, Inc.



Start with
$$y(n) = \sum_{l=n-M}^{n} h[n-l] x[l]$$

With
$$k=n-l$$
, the limits on the sum are:
 $l=n-M \implies k=n-l=n-(n-M)=M$
 $l=n \implies k=n-l=n-n=0$
 $\therefore y[n] = \sum_{k=0}^{m} h[k] x[n-k]$

McClellan, Schafer, and Yoder, *Signal Processing First*, ISBN 0-13-065562-7. Prentice Hall, Upper Saddle River, NJ 07458. © 2003 Pearson Education, Inc.